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Place and time particle in Korean

1)
2)
3)

= FpamaTuka

-01| 7 H:f OTWUBaM Ha, B, KbM...

NG| = “at/on” time
NOi| = “at/on/in/to” place
NO|AM = “in/at” place

“To some location”.
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He 25 ( )il D1,
% (11~12) 28 & 20| 82! 28 D2YHAM2. Choose the sentence
W &= Ag @ A @ AlE with the incorrect particle.
5. & M= | JOI0H 2. 1. @ B0 ot ot §0HQ.
O e @ £ @ 48 @ 2e @ BAW 10l UK.
6. 013 Me X2 ( Jol 2. @ MU K ol J12.
Q) 28 2 AZE @ sw @4 3E
7. 0k00 AR ()0l AN K. 12. O 80 A 20| 20,
2) 014 KO 3IAFROINS.
® oiCt @ ®3 3 & @ 9 ¢ o A=
@ 013 M NS0 218,
8. HM( ) B2 AIRO0INE.
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1 HCl 2 It B F 4 ¢
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1-32 ) YTt formative evaluation

<=J0> ¥ (18~20) CIS& &1 8380l &€38I&JAl2. Read the passage and
Jb: 82 A0 K7 answer the questions.
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20. 0l 28 WEY OUE 2SS D24 A 2. Choose the incorrect
statement according to the passage above.
15. JF 20| Wed [UAHR?
- 1 0l MNe 22 M S0l UAHK.
2 22 M= 812 AME0I0l 2.
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3 Ul, 20| & UAAHR @ OIL 2, W&ol MY UHE
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